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EKEZ il = 1'45) 10:05 10:25 11:30 10:30 10:30 10:46 10:45 10:40 10:28 10:50 10:35 11:13
KB °C =18 17.7 19.8 23.0 27.4 28.0 26.5 23.8 215 13.6 11.8 9.7 14.4
— i E 18/ml 100 0 0 0 0 0 0 0 0 0 0 0 0
N — |mHEnmnce PN T TR T TR T TR TR TR TR T TR
BEUVZDIEEY mg/L|  0.01 <0.001 <0.001 <0.001 <0.001
ANEIOLEEY  |me/L|  0.02 <0.001 <0.001 <0.001 <0.001
%ﬁ“/ 11}:’{?4# “BO ol 001 <0.001 <0.001 <0.001 <0.001
e me/L 0.6 <0.05 0.06 0.05 <0.05
HO0OEER meg/L|  0.02 <0.002 <0.002 <0.002 <0.002
sookiLLs meg/L|  0.06 0.012 0.026 0.020 0.010
CHOOEEE me/L|  0.03 0.010 0.016 0.009 0.007
<JOoE/O0024> |me/L 0.1 0.002 0.003 0.001 0.001
REER mg/L|  0.01 <0.001 <0.001 <0.001 <0.001
NUIN=EL D meg/L 0.1 0.020 0.040 0.028 0.016
) OOEEE: mg/L|  0.03 0.010 0.015 0.017 0.010
JOECH/O0aA4> |meg/L|  0.03 0.006 0.011 0.007 0.005
KJOEHRILL meg/L|  0.09 <0.001 <0.001 <0.001 <0.001
BIRILLTILTER meg/L|  0.08 0.003 0.003 0.003 0.001
FHEIRBRUVZDIEESY [me/L 1 <0.004 <0.004 <0.004 <0.004
4@17':’%"%—'7/"&”%0) me/l| 02 0.025 0.039 0.021 0.021
HEVZDIEEY meg/L 0.3 <0.01 <0.01 <0.01 <0.01
RARUVZFDIEEY meg/L 1 0.002 <0.001 0.002 0.001
RUAVRUVEDIES Y| me/L|  0.05 <0.001 <0.001 <0.001 <0.001
Bl A4 mg/L 200 9 9 10 11 10 9 8 8 8 9 9 9
AREZREY mg/L 500 84 100 64 77
DIARIY ng/L 10 2 2 2 2 1 < <1 2
2-AF ILAIRILFA—)L [ng/L 10 A A A 1 A A 4 1
ﬁé%%ﬁ EEs meg/L 3 0.7 0.7 0.9 0.9 0.8 0.7 0.8 0.8 0.8 0.7 0.8 0.8
pHIE — | 5.8~86 7.4 7.4 7.4 7.3 7.3 7.2 75 7.4 7.6 75 7.5 7.3
R — [Bgonunce| EBEgal| BEEggl| BEEgL] BE4L| BREA4L| BER4L] 2Eial] EEal] mwal] ®Bxal| Bgal| BEwal
BER — [Bgonunce| BEgal| BEggl| BEEgl] Beggl| BRE4gL| BERalL] 2Eial] =mEal] mEal] =mxal| Bgal| BEwal
BE E 5 <05 <05 <05 <05 <05 <0.5 <05 <05 <05 <05 <05 <05
AE E 2 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
vooo7tb=kJJL [mg/L| 0.01
|AKkIOZ—)L mg/L|  0.02
& TR BIER mg/L| 01Kl E 0.6 0.5 0.4 0.7 0.7 0.6 0.6 0.6 0.7 0.7 0.8 0.5
e8| 5% Bt o R meg/L 20 5 6 5 5
BIR X 5EE(TON) — 3 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
(== 1PN DN i = voers _ _ ) )
BRMEGUTITER) L,;l’;@gmk i 1.3 1.2 15 1.4
i)
HKEEEME B/m| 2000 4 0 0 0
z FILHE mg/L — 40 46 26 35
Q@Eﬁ{ﬁﬁﬁ 1S/om — 118 116 126 140 130 87 88 103 111 110 97 111
ﬁﬁmwru»rz“p mg/L — 15 17 10 13
LNRBRIEE260) | — — 0.008 0.008 0.010 0.012 0.011 0.011 0.012 0.010 0.011 0.010 0.010 0.010




